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& Az & 4 ouT IN [TOTAL| HDCP NET
B B Rrf s =% 41 | 36 | 77 12 65
R | EZE B3 | 3 | 4 | 11 4 67
3 fiL FEIR 3L 38 | 40 | 78 9 69
4 fir ER #H— 38 | 40 | 78 9 69
5 fir BAR Z2ER 43 | 39 82 13 69
B-G HEFE B | 37| 34| 1
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& Az & 4 ouT IN [TOTAL| HDCP NET
' % i E— 36 | 38 | 74 12 62
®ER | F)I MR 39 | 41 | 80 | 12 68
3 fir ) B= 44 | 37 81 13 68
4 {7 A EA 40 | 40 80 9 71
5 fir R B 41 | 41 | 82 10 72
B:G i F— 36 | 38 74
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& Az & 4 OUT | IN |TOTAL| HDCP NET
B % g #LE 45 | 40 | 85 17 68
W | AR EH— | 50 | 42 | 92 | 22 70
3 fir E¥ 4 46 | 47 | 93 22 71
4 fr HH = 46 | 43 | 89 17 72
5 {if A AL 52 | 42 | 94 22 72
B:G e #LE 45 | 40 | 85
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& Az & 4 OUT | IN |TOTAL| HDCP NET
B B ZRH Z={d 39 | 45 | 84 | 23 61
HEB A 5 40 | 41 | 81 15 66
3 fir IE S 44 | 46 | 90 | 23 67
4 {7 A ER 44 | 43 87 18 69
5 fir H E JERR 49 | 42 | 91 22 69
B-G A H 40 | 41 81
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